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A 2 0l & A &2 & Al A
20169 = =0lat LA A Xt
AN LA X R D
Mo metag slaoie 23
Sl BAMKIIY S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
&b X2 Dt 20,542,173 20,229,379 312,794
= 863,000
Xl 350,000
J| 4,115,000
< 15,214,173
S FaAE et 4,021,660 4,282,660 A 261,000
= 863,000
< 3,158,660
SAUHIY 4 1,095,200 1,076,200 19,000
SEHHY 232 30,000 30,000 0
403 XIS E X201 & 30,000 30,000 0
02 SO 2SOH SR E X HE AL B 30,000 30,000 0
Ot 2g 2e 30,000
4 - MY BH2XA 45,000 45,000 0
403 A X EHHS 20l A 45,000 45,000 0
02 2|2 S 0fl CH & XH= X O 8 A2 b 45,000 45,000 0
OF2 HHYIY B2 NI (HHSIX ) 45,000
RNgdx 2483 AL (SHIXTR) 20,000 0 20,000
403 Ut SHHSA=0l& 20,000 0 20,000
02 I 2S0ICHEt A =& OHE At H 20,000 0 20,000
OXgud 243 M(HE) 20,000
SEAH S22 - H™HIIG gES HE 100,000 100,000 0
403 MtXISHHE X201 & 100,000 100,000 0
02 S 2SO HE A2 X THE AH B 100,000 100,000 0
OsEd 4 -8HIIY &Es A 100,000
s 2F 38,200 39,200 A 1,000
201 Let2d] 16,000 16,000 0
01 At 2teltl 16,000 16,000 0
Ot &= ZHl 16,000
203 YR =&l 22,200 23,200 A 1,000
03 AIHZ=XH R =AH| 22,200 23,200 A1,000
OF2MY SHZX 22,200
NATHAA HEXE ALY 850,000 850,000 0
403 X SHHE A0l & 850,000 850,000 0
02 S 2SO HE A2 X HEH Ar H 850,000 850,000 0
OXAT&A EHEXE AL (UHS) 850,000
Ol=HI=(Inno-Biz) E&E S X & At 12,000 12,000 0
308 XtXIEHH SOl A 12,000 0 12,000
10 SII 2 SOCHetZ & = 0 & A& I 12,000 0 12,000




2N
X ZH -
L= B

el

o X
S N
AMHIY S4

S2A-ZH () - HRAY - BES Off 4+ oH ﬁgi Hns2
| | SNEEEIEEEENERNE 12,000
ArstE e 843 1,765,460 2,075,460 310,000
X8 AME (RIC) N (ZHEEXA) 200,000 400,000 A 200,000
403 XX SHH S K20l & 200,000 400,000 A 200,000
02 2| 2SO0l CH8F X2 = O 84 AHES 200,000 400,000 200,000
OXS&AME (RIC) NEA(HS) 200,000
AEroiE e J|EHEAY KR (SUEFXN) 1,000,000 1,000,000 0
403 XHXISHH S A0l ™ 1,000,000 1,000,000 0
02 BI| 2SO0l CH 8 K= = 0§ 34 A+ 1,000,000 1,000,000 0
Odtstoiglal JI2LAY N (HS) 1,000,000
Zwl|Y SAMY N (ZHHFNN) 180,000 180,000 0
403 X SHHM S K20l A 180,000 180,000 0
02 BI| 2SOl CH 8 X2 = 0§ 34 AH e 180,000 180,000 0
OEZ®el|Y SHAL(HS) 180,000
SIRDH MO ZRAIY X 100,000 80,000 20,000
403 XHXI EHH S KH2 0l & 100,000 80,000 20,000
02 2| 2SO0l CH8F K= = O 84 AHE 100,000 80,000 20,000
O M Mot 22Are X 100,000
ArEtE e S S EH(LING) S A ALY 275,460 275,460 0
403 XX SHH S Kt 0l & 275,460 275,460 0
02 2J| 2SO0l CH BF K= = O 84 AHES 275,460 275,460 0
OMSHES M CHEH(LING)SHAIY X2 (HS 275,460
XSohst Xddatarel oYy S4 (2PN 10,000 0 10,000
403 XHXISHH S Xt 0l ™ 10,000 0 10,000
02 BI| 2SOl CH 8 K= = O 34 AF e 10,000 0 10,000
OXLs NAMAA ATHAS SA (U2 10,000
BEIIE AR 1,161,000 1,131,000 30,000
2 863,000
[ 298,000
ESHPNLXNYLSIAML (BHEEXL) 200,000 200,000 0
403 XX SHH S 20l & 200,000 200,000 0
02 BI| 2SOl CH 8 K= = 0§ 3 AH e ] 200,000 200,000 0
OSSP WL L2IAY (HS) 200,000
GlEBEIIE0 SHXAAMY(HIEF L) 18,000 18,000 0
403 XX EHH S Kt 0l & 18,000 18,000 0
02 2| 2SO0l CH 8 X2 = O 84 AHE 18,000 18,000 0
OO & eI =0 SHXHAY(HS) 18,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
SN2y 24 - 22 80,000 50,000 30,000
403 UHXISHHSA=0l& 80,000 50,000 30,000
02 S| 2SO0l CHSt At 2 X O & AF I 80,000 50,000 30,000
Os=usd|lsxy 24 - 29 80,000
BTL @2 utsr2t X & At 863,000 863,000 0
= 863,000
403 X SHHS =0l & 863,000 863,000 0
= 863,000
01 X SHMA2E X 863,000 863,000 0
OBTL =2 teta A& UE K& 863,000
= 863,000
derity 4 14,481,969 14,266,275 215,694
J| 4,115,000
< 10,366,969
LMY Y 8,091,469 5,960,775 2,130,694
J| 4,115,000
< 3,976,469
OeTIlel SA0|1Y JI=XNS A 50,000 200,000 A 150,000
403 MtXISHH S0l & 50,000 200,000 A 150,000
02 S 2SOHHEHAH 2 X HE AL B 50,000 200,000 A 150,000
O&lTIIe S401 J=XNAE(UHS) 50,000
gl gelXl =8 AtY 180,000 26,775 153,225
403 XSS X201 & 180,000 26,775 153,225
01 XXM 22 = 180,000 26,775 153,225
ODel delXl =48Ag XNA(US) 180,000
AU H X XIS XA 2,108,000 2,432,000 A 324,000
J| 2,108,000
403 A X EHHS =0l A 2,108,000 2,432,000 324,000
J| 2,108,000
01 X SHMA=LE L 2,108,000 2,432,000 A 324,000
OAITH A0 H X XIS K& A 2,108,000
J| 2,108,000
Bt FeE2g MY 300,000 300,000 0
403 UtXISHHSA=0l& 300,000 300,000 0
01 XM A=2EE 300,000 300,000 0
Ot =ei83 AD(US) 300,000
Sctdel =4 211,000 221,000 A 10,000
201 et 10,000 10,000 0
01 At 22l 10,000 10,000 0
Osetdel 24 29 10,000




2N
X ZH -
L= B

el

rx 10 o

=
R W=
0 ox

RNy Pl
02 JM 12
I

0

A
=

SA - BB B () - MM - BES Ol &t o San HmEET
202 Od4dl 3,000 13,000 A 10,000
01 = LHA YI 3,000 3,000 0

Ozctel FRFE =HEHI 3,000
403 MtXISHHE X201 & 198,000 198,000 0
02 SN 2SOH S X HE AL B 198,000 198,000 0
OOFAIOF &ctdel 55 =4 38,000
OB oiel OHAE K& 100,000
OHZZ 22U OHE X& 60,000
Z2Y HEZAE AdXAY 2,007,000 1,854,000 153,000
J| 2,007,000
403 XIS S X201 & 2,007,000 1,854,000 153,000
J| 2,007,000
01 X SHH2E = 2,007,000 1,854,000 153,000
OZZ2Y HYZAE SIML(SHIZ) 2,007,000
J| 2,007,000

SCtHAEY 460,000 300,000 160,000
403 MHXSHHSA=0l& 460,000 300,000 160,000
02 SJ|1 2SOl CHSH At 2 X CH & AF & I 460,000 300,000 160,000

02016 SctHAEIE A 200,000
Ozt JIsZJIUHal K= 260,000

SSEHLALAERZ 0IXNEH 420,000 300,000 120,000
307 21201 A 420,000 300,000 120,000
08 OIXtEH 3 420,000 300,000 120,000

OS=SH2ALHEIN= 0IXNEH 420,000

HIZelHol AL e XA (SHIEEXR) 297,000 297,000 0
403 MHXSHHSA=0l& 297,000 297,000 0
01 X ESHHMA=E L 297,000 297,000 0

OblgelgoAld EBHYa XML (US) 297,000

EAMEENAT JIBRASAL(SHEEXH) 238,000 0 238,000
403 XSS A=0l& 238,000 0 238,000
02 SJ|1 2SO0l CHSH At 2 X CH & AF I 238,000 0 238,000

EAMNE BXUAM JIBRASAIL(US) 238,000

AHMNUHK & - SSE2 =4 1,170,469 0 1,170,469
403 MRS E X201 E 1,170,469 0 1,170,469
01 XS M A=2EE 1,170,469 0 1,170,469

OLTHMEUHUX S X3 A 1,170,469

B JIsXdMH 2SN 500,000 0 500,000

403 XIS E X201 & 500,000 0 500,000




2AM: AR D
B Metse 84
el BYBAY S8 CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 3|2 S0l CHSHA= & CH & AR B 500,000 0 500,000
OS2I =XNJAMH 29 XA 500,000
HE2 ESSAIEEHIEE AHE 150,000 0 150,000
403 ItXISHXM S K201 150,000 0 150,000
01 AIXISHMA2E X 150,000 0 150,000
OUE S ESSAIEEHOtHE HE 150,000
N A S SAHY 6,390,500 8,305,500 A 1,915,000
= HHESTHEKF MG (ZHEAEXH) 100,000 0 100,000
403 ItXISHHMS K201 100,000 0 100,000
02 SI|2SOICHSHAH =X 0 & A bl 100,000 0 100,000
OJI=HAESTUERA A (HE) 100,000
StEAGHMATHATRME 2 G XA 122,500 122,500 0
308 AHXI S M SO0l & 122,500 0 122,500
01 AXHNBIMNEXZ 122,500 0 122,500
Ot=2AGHAMATHAZNE S XA 122,500
SH &g 243 35,000 35,000 0
307 212t01 & 35,000 35,000 0
05 A2t E = 35,000 35,000 0
O3W3Z&a M=l 25,000
O30 W= ool W& 10,000
Nz ad SHAG(ZHEAEILE) 4,000,000 4,000,000 0
403 X SHMS K201 4,000,000 4,000,000 0
02 I/ 2 S0l CHst At =& CH e A B 4,000,000 4,000,000 0
OXNEFEANE SEHAMHS(HE) 4,000,000
22|20 NY9MAdSH(ZHEEIH) 250,000 250,000 0]
403 ItXIHAMSA201H 250,000 250,000 0
02 3|2 S0 CHSHAH= & CH & AR B 250,000 250,000 0
O23J|&dA XNEag=4(UE) 250,000
ZHEHAAMNY SHAL(2HIEXR) 1,800,000 1,800,000 0
403 ItXISHM S K201 & 1,800,000 1,800,000 0
02 B3I 2SO CHSHAH2 & CH & A B 1,800,000 1,800,000 0
OdHgeaAMT SHAIE(UHE) 1,800,000
SCHH ZAMEIMIET RE(ZHEAEIL) 83,000 0 83,000
403 XX SHH S K201 83,000 0 83,000
02 SI|2SOICHSHAH= & O & A bl 83,000 0 83,000
O3CHH ZHAME AHCT] RFH(HE) 83,000
ICT S & AMHIA SHat 1,050,000 1,375,400 N 325,400




EMN: MEXR D
M |CT SEANHIA EHAt
Chelr ATESO MY S4 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 350,000
& 700,000
ATEYN &H M 1,050,000 1,375,400 A 325,400
Xl 350,000
&< 700,000
N ESWAH R E X & 800,000 1,325,400 A 525,400
Xl 350,000
== 450,000
403 XX SHHS K20 & 800,000 1,325,400 A 525,400
Xl 350,000
== 450,000
02 BI2SOHUS XSS AFEHI 800,000 1,325,400 A 525,400
OX<YESWA & X & 560,000
Xl 350,000
= 210,000
OXNGSWEEA2HEYH 2922/ (HH2) 80,000
OYEIDICINII=XNSMEH 2922 40,000
OXNYSWEE MZE 423 XN (HE) 120,000
3DZ2E DDt HEXSEAMXKNE A=A (2] 50,000 50,000 0
IR DE)
403 XX SHHS K20 & 50,000 50,000 0
02 BI2SOHUS A= AE Y 50,000 50,000 0
O3pE e J=J|8 HESEHMXSHE A
A(HE) 50,000
ICT S84 I XA 200,000 0 200,000
403 XX SHHS K20 & 200,000 0 200,000
02 BI2SOHUSA=2E S AFEHI 200,000 0 200,000
OICTsEdY I X 200,000
HEMSHAY (MR KAD) 61,094 64,594 A 3,500
Jledd| 61,094 64,594 A 3,500
Jl2 &4l 61,094 64,594 A 3,500
201 Bt 4d9H]| 19,514 19,514 0
01 AP 22| H| 19,514 19,514 0
OJle+=2| 7,964
OJlE232 &l 11,550
202 04| 41,580 41,580 0
01 2Ll 41,580 41,580 0
o220yl 41,580
THEE S (AAX D) 927,450 240,450 687,000
BH&X= 927,450 240,450 687,000
BMX= 927,450 240,450 687,000
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240,450
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240,450

687,000
567,000
120,000
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